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CERTIFICATE OF COMPETENCY IN POWER 
DISTRIBUTION (CCPD) 

Term-End Examination 

June, 2013 

OEE-002 : POWER DISTRIBUTION 
SYSTEM - BASICS 

Time 3 hours 	 Maximum Marks : 70 

Note : This paper has two sections, Section-A and Section-B. 

Both the sections are compulsory. Remarks have been 

mentioned in the section along with marks. Write your 

answers in English / Hindi. 

SECTION-A 

1. 	Fill in the blanks. Choose correct answer from 

the choices given below : 	 15x1=15 

(Aluminium, Rotational, Shell, HVDS, Power 

cable, Preventive, Neutral, Radial, Rubber, 

Current, Load, Winding, Accuracy, High, Gas, 

7) 	Full) 
r--1 

(a) Tong tester is used for measuring 
CO 

(b) Buchholz relay is 	 operated 

relay. 

(c) resistance of transformer is very 

low. 
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(d) Isolator should be operated under no 

	 condition. 

	

(e)   gloves can be used while doing 

hot line maintenance. 

(f) 	Fault on LT lines is 	 compared 
to FIT lines. 

Power transformers are normally operated 

at 	 load. 

(h) In a single phase two wire system, electric 

power flows from phase to 	 to 
complete the circuit. 

(i) High voltage distribution system is called 

maintenance is done on a 

routine bask and as suggested by 0 and M. 

(k) A  	is an assembly of two or 

more conductors, usually held together with 

an sheath. 

distribution system is used in 

rural areas. 

(m) In the case of AAC and AAAC, all the 

strands are made of 	 

(n) Transformer is a static device, so has no 

	 losses. 

(o) Two main types of cores used in laminated 

steel core transformers are core type and 

	 type. 

(g) 

(1 ) 
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2. 	Write True (✓) or False (39 for the statement given 

below : 	 10x1=10 

(a) The minimum (Break Down Voltage) of 

220 kV transformer oil is 50 kV. 

(b) Ratio test of transformer can be done in 

energised condition. 

(c) Expected life span of transformer above 100 

kVA is 35 years. 

(d) Secondary output current of CT is 0.5 A. 

(e) Full form of conductor type AAC is All 

Alloy Conductor. 

(f) Theft of power of existing consumers 

contributes to commercial loss. 

(g) Absolute T and D loss (Units) = Energy 

Input — Energy Billed. 

(h) Vertical mounting of meters should be 

ensured. 

(i) Bus bars should be able to carry expected 

maximum load current without exceeding 

temperature limit. 

a) 
	

Conductors resist the flow of electricity. 
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3. 	Match the following given in column 'A' with 
column 'B' : 	 5x1=5 

Column 'A' Column 'B' 
(a) Transmission voltages (i) upto 25 kVA 
(b) Distribution voltages (ii) 11 kV, 400 V 
(c) Direct mounting 

transformer 
(iii) 220 kV, 66 kV 

(d) Radial Distribution 

System 
(iv) Low cost and used 

in rural areas 
(e) Loop Distribution 

System 
(v) Medium cost and 

used in urban areas 
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SECTION-B 

Attempt any eight (8) questions : 	 8x5=40 

1. What are the factors contributing to high 

commercial loss in distribution network ? 

2. Differentiate between preventive maintenance 

and breakdown maintenance. 

3. How to prevent low Break down voltage in 

transformer oil ? 

4. Why underground cabling is being opted for 

urban areas ? What are its advantages ? 

5. What are the factors on which sizing of cables 

depend ? 

6. What are the activities involved in Operation and 

Maintenance of Distribution system ? 

7. What are the different protections schemes in 

transformers ? 

8. Give the classification of voltages (or voltage level) 

at different segments in power system. 

9. List the main equipments required for an overhead 

line. 

OEE-002 	 5 	 P.T.O. 



10. What are different type of feeders ? Name the 

configurations in which feeders are connected. 

11. What are the advantages of HVDS ? 

12. What are the most common faults in Cables ? 

13. Broadly categorise the equipments in a substation. 
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